Calcular Porcientos (F)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 8.124 € es
4,062 €7

. ¢(Qué porciento de 980 € es
147 €7

. ¢Qué porciento de 6.100 € es
5.795 €7

- ¢Qué porciento de 8.420 € es
1.263 €7

. ¢Qué porciento de 5.820 € es
5.238 €7

10.

;Qué porciento de 2.760 € es
138 €7

;Qué porciento de 2.390 € es
717 €7

;Qué porciento de 5.524 € es
1.381 €?

;Qué porciento de 1.740 € es
1.653 €?

;Qué porciento de 7.100 € es
7.100 €7
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Calcular Porcientos (F) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 8.124 € es
4,062 €7
50%

. ¢(Qué porciento de 980 € es
147 €7
15%

. ¢Qué porciento de 6.100 € es
5.795 €7
95%

- ¢Qué porciento de 8.420 € es
1.263 €7
15%

. ¢Qué porciento de 5.820 € es
5.238 €7
90%

10.

;Qué porciento de 2.760 € es
138 €?
5%

;Qué porciento de 2.390 € es
717 €7
30%

;Qué porciento de 5.524 € es
1.381 €?
25%

;Qué porciento de 1.740 € es
1.653 €?
95%

;Qué porciento de 7.100 € es
7.100 €7
100%
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